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FINAL ANSWER KEY

Paper: 058 - The Indian Penal Code - Criminal Judicial
Date of Test 05-11-2024
Questionl:-Indian Penal Code is replaced by which of the following statue:
DB o@D EHIUWIM ald:e200 @I6PAOWM DB a@@oem?
A:-Bhartiya Nagrik Suraksha Sanhita
RIEMI® MOWNEIB YRS TVonCl®
B:-Bhartiya Niyama Sanhita
RIEMI® M@a MVoall®
C:-Bhartiya Nyaya Sanhita
RO MP® Moall®
D:-Bhartiya Sakshya Adhiniyam
@@ quoss @oWlmlw.
Correct Answer:- Option-C
Question2:-Which of the following statements are correct with regard to IPC?
i.  Thomas Babington Macaulay was the chairman of the drafting committee
ii. After submission of the draft, the code was revised by Sri Rajagopalachari
iii. Indian Penal code received Governor General's assent on 6th October 1860
iv. Right to prosecution under IPC is not affected by the provisions of other statutes
60 llQaowi] SNIMWES MILIOQIM @ITYOUMNSEDD agmosny wdl?
i, Wiy ®aldlQes 6a1da0mIiaam e@oamy eniosnl.uisend asemosel
ii. Wog Madq]ajeuonts, 680 US ©IBEN010010210@] aidlagydla)
iii. ey Weao Moacsla’ 1860 aegosud 6-a3 nadepad smoelmdeo @emread iy
iV. ®agalmdl @seoe. c@orrdla,érmrrb £21QOMESS ERAISHIWREOD ag algEREloal QIMUOGU3 eniowlesle

A:-i, i and iii
i, i, iii

B:-i, iii and iv
i, iii, iv

C:-i, i and iv
i, i, iv

D:-All the above
ABHE alOFDAUOWEII0
Correct Answer:- Option-B
Question3:-Which of the following punishment prevailed in Ancient India was not recognized under Indian Penal Code
@M DA Mlaimlmlam @690 UBloUsEITs ag@em oYM uBlom MR @RUIeEl®eqSImle)
A:-Corporal Punishment
odIElS UBles
B:-Deportation
MIFHSODTD
C:-Capital punishment
QWUBles
D:-Both (1) and (2)
(1), (2) e @erge
Correct Answer:- Option-D
Question4:-A, an Indian residing in Delhi instigates B, a foreigner residing in New York to commit a murder in London. B commits murder. Whether A
has committed any offence under Indian Penal Code?
AW@aOled @oamilasmm samiEmoemo A, (T)é@@()(ﬁﬁﬂ@ @oamdlescm B agm allesudlow aisrailad e@oainnme@. MsomIm tajdlajsnmm. B o@oaianme. msowl. A oamyd udlewo
DR800 afMEIRJ B:Qo wm%ﬂ%cmgo?
A:-A is guilty of abetting to commit murder
08010 10GBODTIN eajdlaflaldlay A @:genoemosny
B:-A is not guilty of any offence as the murder was committed outside India
OB02I00Mdh0 DAMYE JO MSM@IMITB A BB ®:QODIRj G:QEHIRMEY
C:-A is guilty of criminal conspiracy
A @ldn@ gawoeen amld BQENORMIEITY
D:-A is guilty of committing murder
A e@0elnl0md ﬁ;gmo(omoem“
Correct Answer:- Option-A
Question5:-The Latin term non compos mentis is applicable in which of the following General Exceptions?
GG @EMIOMY HAMSINY 0o 210Gl alBe GIOLAJOWYM HAODANW BFINVEBEIDE aBMIEN RIOWE?
A:-Insanity
@0
B:-Necessity
@R)QUUBY
C:-Infancy
660U
D:-Consent
MU
Correct Answer:- Option-A
Question6:-Offences against state does not include
MUMOIMOTIOMTEIW HQROTRUY DUBegITIgY
A:-Assaulting High dignitaries
2N® QUBTIHOS @B
B:-Waging War against friendly nations
6TMVUDYB EOBYIBLBOLTNOO QDo HaIQd>
C:-Harboring state prisoners
MUEMOIM MSQYBOBES BORWo MNTBE:E:
D:-None of the above
QABHEI alOFIO BaRRGY
Correct Answer:- Option-D
Question7:-Indian Penal Code comes into application in Jammu and Kashmir with the name
20 $FIRIG KB M@ 6B af)iM alElBd (ERINEBIG QUGB
A:-Indian Penal Code
DM afln@d esoauy
B:-Indian Penal Act
B olnad e
C:-Ranbir Penal Code
oendenl@d olln@d eamonuy’
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D:-Indian Criminal Code
Ay @lln@d esonny
Correct Answer:- Option-C
Question8:-Who among the following is not a public servant under Indian Penal Code?
@OPJOQINAIGITD @RI MMM WBlEHONIAIE:00e HaldDEIAIBONEMD @REPOD®Y?
A:-Judges
wlnod
B:-Speaker of legislative assembly
dloarueo mileed
C:-Member of Auxiliary Air force
8gleid] a@Aeanog @ooUe
D:-Leader of Opposition
@©@lalBs eN@OQY
Correct Answer:- Option-D
Question9:-Doctrine of necessity is
@RQURYB:DQEOS MUIRLIMo AN
A:-An excusable exception
a8 adledlal
B:-A justifiable exception
MPIBHA LY BT @B
C:-Both excusable and justifiable exception
#8200 ®o MPWB:E|EHIYMD2IW BFINI0EHE)BUB
D:-Neither excusable or justifiable exception
#0lEIQME® MPABHEIBIYMED® ERH® BFIIBEHSS)
Correct Answer:- Option-B
Question10:-Which of the following immunity is given by Indian Penal Code to a child who is 12 years or above
12 aweqyo GroIo @5mean IWRss e &Sl M WWleunlae M@EM @dIEEIWEW IOPalOQMAIRIES agmoen?
A:-Qualified Immunity
CRONOWQES (JTIEEIWEUBH
B:-Restricted Immunity
N @oleeowewdad
C:-No Immunity
@oleEoWeudal gogy
D:-Absolute Immunity
TumydeR @Jolleeowewensd
Correct Answer:- Option-C
Questionll:-Law of presumption applies to which of the following defenses
@RMRIM M@ @IOPORM oF®) (@GEEIWBIM 6NIOWS@06M7?
A:-Volenti non fit injura
60eaIBAl 6moem  adlg’ o
B:-Doli incapax
6awog e0BB0a10g;
C:-De minimus non curat lex
] dladlacny’ enoemd &;&:ng‘ oaigy’
D:-(2) and (3)
(2), (3)
Correct Answer:- Option-B
Question12:-Which of the following statement is not correct with respect to the punishment of forfeiture of property.
oIy esusngeoe,g«mvﬂabgg BleuQaD ENITNWOIS @IOLAIODM IYIAUMBE@ a@@oeT wdlwe?
A:-Absolute forfeiture of property is given for all offences against state
MUMOIMOTIOMDTEIW 0f)gfd HQBHOERUWBER. MICTIBHO MuMYBER &MEeBs® Maeloldleamo
B:-Absolute forfeiture of property is now abolished
MIETIM@e0 MUMBER Bl eawd mMdomends
C:-Forfeiture of specific property is given for some offences against state
MUMOIMOBIOMTEID aflel &:QR@ERWBE WAGleY MV eSS M@Bsldlem
D:-None of the above
QBB al0sTmO! BMRAGY
Correct Answer:- Option-A
Question13:-Which of the following is not an ingredient of unlawful assembly:
©@069aJ0QIMARIE g TlanlmELEY] BIBEAIEIMPESS CRISGAGPOT®?
A:-Common intention
0al0D®OWY OEFUo
B:-Unlawful object
deoalmeveo® A
C:-Vicarious liability
Qll#00IERIW WD
D:-Five or more persons
@PEI0 @OOIRILS®:E0 @RS
Correct Answer:- Option-A
Question14:-Grave and sudden provocation can be considered as
DB OORIWDo OAISTOES (@JCEIAIMOo @AW EBEMENIE0
A:-Question of law
N2OBIBOO 621060
B:-Question of fact
QATRORES G2l0Bk
C:-Mixed question of fact and law
QATROYOSQo laowlBe0qe quedlyy E206k%
D:-Rebuttable presumption under law
MO0 MleaHUlEndq)am @oMRAIM.
Correct Answer:- Option-B
Question15:-Which of the following will determine whether an offence is trivial or not
i.  Nature of injury
ii. Position of parties
iii. Knowledge or intention with which of the offending act is done
iv. Other related circumstances
B® GO MFOEACEMO @RGIEWI ol @IOLORQRMAIRI® a@®Iem Mildepelasde?
i,  adslbeo e,
ii. andgleges muaome
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iil. ogo Q8000 @Yol eagem @odlal GRegElm De3uw
iV, ag @oaenicw aquoan.aleweEud

A:-All of the above
ABHEI OOV

B:-Only i
i 20@o

C:-i and iii
(i), (iii)

D:-i, iii and iv

(i), (iii), (iv)
Correct Answer:- Option-A
Question16:-Section 77 and 78 of Indian Penal Code dealt with
o wWesomlwactieal emueud 77, 78 agailal ood00w ealgano
A:-Only Judicial Immunity
2B UWlauy@d @maerrﬂg? 2O@o
B:-Mistake of fact
AROQOS 6O
C:-Both Judicial and Executive Immunity
edlauSlony@3, n@@&ég’lﬂ]’ @m&mﬂg’l
D:-None of the above
QBE alOsTm BMRRGY
Correct Answer:- Option-C
Questionl7:-Which of the following is not an element of abetment under Indian Penal Code?
®069aJ0QIMAIRIEB ag@oeN amym wWlerorlwaosilay Sldlass cajeemmes caiseng)?
A:-Attempt
@WRo
B:-Conspiracy
BAOERID.AIMN
C:-Instigation
€)M
D:-Aiding
aglwlowsy
Correct Answer:- Option-A
Question18:-Whoever intentionally puts any person in fear of any injury to that person, or to any other, and thereby dishonestly induces the person
so put in fear to deliver to any person any property, or valuable security or anything signed or sealed which may be converted into a valuable
security, commits the offence of
8@ QUBOIEHI 2QIPEHIRIERI 0fOMDBIR) alBlEE@Walameam CHeEER AM:ddQ) BREOFTDBQP @RS TVETMWOWIBIE® @) AUSBTIOY EWEUFTDHQ0 aBOEI) QITReaN
alleieas a«u&é«ﬂg’lc@o 8aflsemo QEWISEmO ER BOQEMEIEj @R QKBTI HOBBI0IM GaClaleRe £alQMP. YEUICDIR GG surmaéra’lg%momﬂ alBlIBOmMoe B2IQeaFo, BQo
£21QMOY
A:-Thug
Uy
B:-Extortion
OSOWSEHDD
C:-Theft
GAIaH6Mo
D:-Dacoity
WeEId
Correct Answer:- Option-B
Question19:-The maxim Qui facit per alium facit per se is applicable in determining which of the following liability.
@96 alOQRMAIIT oF@M  VERLIMET G@BAWERMDINY, B &l oMY Hald @REIW. andMIY Bald BV oW E:AET
A:-Vicarious liability
Q00RO MIDWI®
B:-Strict liability
SBUMAID ERIOWYD
C:-Joint Criminal liability
MeQED BN ErIoW™
D:-All of the above
QHE®D AlOODAOWEIe
Correct Answer:- Option-A
Question20:-The offence of forgery is
QU6 mmg«s& af)amn &zgo
A:-Non cognizable and compoundable
@@l aJTlIM aIQITBDo MIQYBORIEHIYM@IE
B:-Non cognizable and non compoundable
@@l ai0l@OMm AIQITTDoe MIQHTRLPTTDo
C:-Cognizable and compoundable
@13 I0lOQYMBDo  TVQYBDAILHIYMN@IET
D:-Cognizable and non compoundable
@@ alTl@OQIMBe MIQSTASPTHDo
Correct Answer:- Option-B
Question21:-A, intending to murder Z by poison, purchases poison and mixes the same with food which remains in A's keeping. A is punishable for
allotie a1BIUTla] A OM 6E:05j0M0 Qllatie Q106EROM. A QS ydsilaflad @RAIBUEIERMM REMIMQYRW G:aIdomom. 9e3ulesmd. A Wlemodanaosm
A:-Attempt to commit murder of Z
Z BOO 6HRIODHUDDo
B:-Preparation to commit murder of Z
Z B0 0839210100 dhe MSOMIDBESS OQIOOFa]
C:-Both (1) and (2)
(1), (2) e e
D:-A is not punishable
A WBlemodanmey
Correct Answer:- Option-D
Question22:-Which of the following is not an ingredient for the offences of cheating under IPC.
®2690J0QIMAIRIEB BN Sagallndl (JE:00Q88 AIFRINQES G:QEERUBE CQISEA50OM®?
A:-Deception
QuerIm
B:-Inducement
GlaJO6M
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C:-Damages or harm
CHFalOGHUD EREYBIT 6RO

D:-None of the above
QAHE@ alOSIO BaRRRY

Correct Answer:- Option-D
Question23:-If an offence is done by a person who is compelled to do it by threats, which, at the time of doing it, reasonably cause the apprehension
that instant death to that person will otherwise be the consequence he is
BB SO0 ElaleBetd 621oM MBMIMUIEMID BT QAT HARPIT, EODY H.2IYID TLAWE, @R AUGDIE CTRSUEMe AFMo MEAIEBHAMM EWo MPWAIVL PFEILBMO

A:-Completely exempted from liability irrespective of the offence committed
£2IQ &Qo alBlMIEB®IO® @M WIS Ml oo a¥lansslaldssme

B:-Exempted from liability except in case of offences punishable with death
206muBley AIElEHINYMM &QEReEgIFeS miowimaicd mlan adlanaslldesam

C:-Exempted from liability except in case of murder, and offences against the State punishable with death
65081000 BIOBHRQSS MOWIODI® W BFANE®ESIEERM, BSIO® BEMUSlEYU ERAACIERIM CEEMESOTOMTIEIR EQRDITRUD

D:-Exempted from liability except in case of offences against the State
MIMINIMOTHOMDTEIR :QH®IETRUS BFlOBHQSS VWO mlm’ a¥lanssoldem

Correct Answer:- Option-C
Question24:-Which of the following statement is correct with respect to the offence of false charge.

MW 2AREHIMBOO HQHOIYDIV MIMWOS VIO @TRIAUMNSBEI oG’ ©dl?

A:-Whoever, with or without intent to cause injury to any person, institutes or causes to be instituted any criminal proceeding against that
person, or falsely charges any person with having committed an offence, knowing that there is no just or lawful ground for such proceeding or
charge against that person is punishable.
aBEOBIRj QBT al@le@Ballead: afIM DEGUCTINSERD ERRPOMEWI BYEIWIL), @R AUBTIDE OO aGEOEIRl BN MSASIEWFHRHEWI EPORBITE MWAIPIY®ERD
Tleaaieead @O® @oeeMalegjm’ @A 06T s18jo QU oo 6@ dQo HYRTOHEWI H2IQYAD. @R AUSTIOLTICIQ GO &:Qo UBIBHIBAORENY

B:-Whoever institutes or causes to be |nst|tuted any criminal proceeding against that person, or falsely charges any person with having
committed an offence, knowing that there is no just or lawful ground for such proceeding or charge against that person is punishable.
@R UBTIODTIO a)emElgl @M@ MSAISIOFERHEWI EPEYYEBITE MWAMPIY®ERI MLAIRER) @R &Ml ERAIITE®IMNE aRe@®Igl AUETIEGTINE QI &:Qo
YATDHEWO 62IQYD. @R AUBTIOEGIEIW @O &Qo UBlEHIBaORETY

C:-Whoever, with intent to cause injury to any person, institutes or causes to be instituted any criminal proceeding against that person, or
falsely charges any person with having committed an offence, knowing that there is no just or lawful ground for such proceeding or charge against
that person is punishable.
eRde®la), ageO®le. QBT aldlemaland M DEGUEOMINS, TUNIAIMERUS ERELIBITE @R ABTIE®TIOE ROl @AM MSAISIOWFENIM G:IBEMAIH:MD, CRELEITS
@ROMGo MSaSEE MPWER MWANIEER BRH BIEEMASLYIT ERCIEOIMEOE:6MTE, g s1ejo QBT 0© 8@ &:Qo ©aRIV] 6®QIV sagM I @) QUKBO leo® &:Qo
UBlBOBaO@ETY

D:-Whoever, with or without intent to cause injury to any person, institutes or causes to be instituted any criminal proceeding against that
person, or falsely charges any person with having committed an offence, not knowing that there is no just or lawful ground for such proceeding or
charge against that person is punishable.

ol Haje QUBDIES aldleen@Ballend afim DEUEOMINSEDO @RLY 0 @) QUBHD 160 of Jaje @M@ MSaISIOWFRHEW  MINIAIMEBRUZ MSTDHEWI @O
TloeomM®Ead Mlreeead @R &EMANEM ERCILIE® aEemEIlej AUBTIO®IOO AW B:Qo YETOHEWI H2IQY. G:IRFMe @) AUSTIOEGIEIW ERO@o BQo
UBlAHOBaO@ETY

Correct Answer:- Option-C
Question25:-Which of the following statement is correct with respect to the offence of theft.
GROAHUEM &YW UTWEIS MOOSJOQYID  (JIRIAUMBSI @6 odl?
A:-Theft is an offence which is only against movable property.
GQOAHEMo af)(M@ WoND m«gma&u&s}mmﬂoo 20@QSS HQROETY
B:-Theft is an offence which is only against immovable property
GRIAUEMo af)M@ TLOAIE MVITDEHWBOEHTCIOE 2IDYBS QAT
C:-Theft is an offence which is against movable property or immovable property
GQIAHEMo af)MND RoDA m«gma&u&@ao LOYAIE (VIETEIMo AfTEIW BT HQYRHYRIET
D:-Theft is an offence which is against all forms of property including tangible or intangible, corporeal or incorporeal and movable or
immovable.
GRIAUMo af)IM@ YAOMERO BRGUYEAI, LIFICIHER0 ERUEIEERI, WNIBEDD TLOIAIRER) UBHAIOS afSPTTE. MITTIMe AHTIEIW BT GQBDBIET
Correct Answer:- Option-A
Question26:-A join an insurrection against Government of India. Which of the following offence was committed by A:
A mp vaem@ddlemoleow B @aaIOmed GalmMe. MIeLaIOQMMAIRIE ag®oe A 6 .21Qo?
A:-A has committed the offence of waging war against Government of India
A o vaemMACeMoIee Qrbe §aIQYID BiQe Haly
B:-A has not committed the offence of waging war against Government of India as insurrection does not falls under ''waging war"
A oaop vaemMAdemoiee Qrbe OaRID @ Galgigle), ©E8Me el Qe MSEDS,'" agmn@im Sl¥lcd ammis)
C:-A has committed the offence of preparing waging war against Government of India
A g naesmaddenalen Qrbe 6.a1QIM MQISOFEBID dQo 62
D:-None of the above
QABHEI alOsIO BaRRGY
Correct Answer:- Option-A
Question27:-Doctrine of insanity is based on which of the following principles
@Bl Mlavdme @oePaloQID E®IERE® cg@lem @oslnunimaossioesmosm?

A:-Furiosus furore suo punier
aDYElE@OTUMY a0yE0IAB Myeaid almload

B:-Furiosus nulla voluntas est
nnédcm)om)m:“ MEs HQSMOMY ag)my’

C:-Furiosus absentis loco est
anrcﬂcuvom)mi @RENITLMAIMY GRI0EH0 gy

D:-All of the above
AHEB alOFAUODEII0

Correct Answer:- Option-D
Question28:-Aggravated form of Criminal breach of trust does not includes those committed by
@ln@d allklom eleaIMETIMBO0 @GHURIR BT S DUBegaTI

A:-Carriers, Wharfingers, Warehouse keeper
#08QBHW, AWBaMtIQBU, HEARBAODMY Blajd

B:-Advocates, Doctors, Chartered Accountants and other professionals
@PEIRIUBAB, WIHARIAB, A0BESU EROEVEIEMQDIB aF H@jdaDUEEBHUS

C:-Clerk, Servant, Employee
£, emoelemoem, dlameded

D:-Public Servants, Banks, Merchant Brokers, Attorneys, Agents.
©ald®ETVAUSM, ENI0B:B:U3, UG CENIEHBRIB, @REIRIHMA, RBABQRIAB

Correct Answer:- Option-B
Question29:-Which of the following statement is correct with respect to the offence of theft
GROAUEMEBRQQYRID FNITMWOAIT CIOPAJORQRM (JTYIAUMBEITS a@@oey ©a@l?
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A:-Whoever, intending to take fraudulently any movable property out of the possession of any person without that person's consent.

o a

D) 4 3
m o) g Ve

@ o

©samae@ Mo age®m®laj BWedd VI AIERIMIAIERIQ] afgENOM Deauslesmaid

B:-Whoever, intending to take dishonestly any movable property out of the possession of any person without that person's consent.

0

@) Qly YOS M. 164060® gy aje QUBOIRQes 9saMLAGEIE3 MM ML@IMMWIRRPOD GOOE:Iej RotdB VI afFEHIMD
C:-Whoever, intending to take knowingly any movable property out of the possession of any person

@1y QB m 84060@ af sieje QIETlQes osamuom@l@d @lan @RClITMEE®:IENTE nGeMEslgj BoDAMVITT afFENIM O3

oegulesmmaid
without that person's consent.
wBlesmaid

D:-Whoever, intending to take maliciously any movable property out of the possession of any person without that person's consent.

\BHO) M6
@) Ql YOS M. =T

Correct Answer:- Option-B

ol Jeje QETIQes 9samuom@Icd mlan ey oRemERje RoLATVIOD afgEIM De3uslesmmd

Question30:-A having insured a ship, voluntarily causes the same to be cast away, with the intention of causing damage to the underwriters. A have

committed the offence of :

BB Haj0d DBUAB ©2IQPIW, ERIERBEOOYBRIBES MIVMAYRYATBILRD: af)(M EGUETMIOS, @R TLICAWL®I SSBHBWMO. A &Qo 62IQ

A:-Criminal Breach of Trust
@@ allvelomoaleaims
B:-Criminal misappropriation of property
IO @M FRaleIN.
C:-Mischief
9@:0@2@3@0“&)
D:-Cheating
QerIm
Correct Answer:- Option-C

Question31:-Which of the following element differentiate murder from culpable homicide not amounting to murder

@OOP alOQYMAIDIG BT CRISEHAET d:0elal 2MDi)BAIAGIOTD MEAOD @3 alem’ sidoil@lesmay
A:-Death is caused
2E6Mo MeEAERMD
B:-Intention to cause death
DE6Mo DEMNRILHIMVSS OCRUDe
C:-Intention of causing bodily injury that is sufficient in the ordinary course of nature to cause death
@HOIQeS MOWIEEM NGIRITE AEEMe MIEAIENIM AlEYPHRIW (BIBIGIE: AIGlERH:(3 DEMRILRS: af)(M DEGUR.
D:-None of the above
B alosTm BMRAGY
Correct Answer:- Option-C
Question32:-Which of the following does not comes under Offence relating to marriage under IPC
©@069aJ0QIARIEB aB®IET Hagalldl (e00g8s AllaadqaR IMWeas @:goBilay Bl¥lad aroTm®?
A:-Criminal Elopement
@@ sgleafose
B:-Dowry death
mglwmaeeme
C:-Mock Marriage
GROE MBI
D:-Cruelty by relatives of husband
edomoalmdec mmymelcd mlmes @e®
Correct Answer:- Option-B
Question33:-Who can be an accused in a mock marriage
al@la0oav Al ERYEEIOED @TIWIE0?
A:-Man only
QUMD BODo
B:-Woman only
@ 20@0
C:-Both man and woman
ad@aUMo MyflQge
D:-Mock marriage is not an offence under IPC
6agallnd] @@000 ca0es allanan. BG :gaey
Correct Answer:- Option-C
Question34:-Dacoity is an aggravated form of
MO0 GBHUIY (B2 @Zlaf
A:-Theft
GRIaHEMo
B:-Abduction
OSIOENIENZEAIID D
C:-Robbery
SR
D:-Extortion
OSIOWFETD
Correct Answer:- Option-C
Question35:-Which of the following element is not an ingredient of criminal force under IPC
®26¢ al0QMMARIEE aB@EN Sagallndl eo0yss @ldlme wsetlges caiseng)?
A:-Insult
@Rl EE3
B:-Annoyance
(RRIPFODTE
C:-Injury
al@les’
D:-Fear

BQo
Correct Answer:- Option-A
Question36:-Which of the following one is not an offence against property
©IHPOQRMAIRIE MITTHOMTHEIW  B:Q0 @RRIICHOY
A:-Criminal breach of trust
@ldln@d aflveiomu akoeaimoe
B:-Criminal intimidation
@@ Elaeriloaigomad
C:-Mischief
tmﬂ;ogg(m@oq;
D:-Cheating
QerIMm
Correct Answer:- Option-B
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Question37:-Which of the following case is not relating to the offence of rape under IPC
@969 OQMADIM oG Bagallnd] @e0ee8s IRV GQAIDS MIMWES®S

A:-Mathura Case
21O BBV

B:-Nanavati Case
MIMIQUDI] MY

C:-Nirbhaya Case
aldew esmmY

D:-Chandrima Das Case
al@a oMY emmY

Correct Answer:- Option-B
Question38:-Which of the following statements are correct with respect to the offence of thug
i. Comitting robbery or child-stealing by means of or accompanied with murder, is a thug.
ii. Offence is non cognizable, non bailable and non-compoundable
iii. A single person can also commit the offence of thug
iv. The offence is punishable with imprisonment for life or death.
DERQOS SRV FNTWEAS DIOLIOQD @ITYIUNSEDD @6 wdl?
i.  ®ads MSIDHEWO H:FlB68 €20 BRHEWO £.21QYHED HBRIAOEo

MSTDHEQI em@(m@“ BT OBISBWIEM
i, @go dldladlwom @Flworm®e Boay LIElEITmD. CE0nMIENRMIu3
@RGPOOODAETY

i, @palanadlome YENED @:Qe 6210
iV. glalaleymens acemeno o eiEl@oqyam @:gmoeny

A:-All the statements
n@gda @(‘rgomm@go

B:-i and iv
i,iv

C:-only i
i 20@o

D:-i, ii and iii

i, ii. ii
Correct Answer:- Option-C
Question39:-Which of the following statements are correct with respect to the offence of kidnapping
i.  Consent of the person is immaterial in kidnapping
ii. Kidnapping is a substantive offence
iii. In kidnapping the intention of the doer is not at all relevant
iv. Kidnapping is not a continuous offence and once there is kidnapping the offence is
complete
DOOEDTBEAIBM SV ENITWEAIT BIOLIOQID JTYIUNSBETD ogmos wdl?
i, ©96m0emeasald ABTIYes TER®e GREJWIMBET
il.  ©510@MEaI0BM® PBOEROW E:Qmo6T
iii. @glosoamenn®eled, ©agMWIges Pe3wY B TVSDAG
IV ©9606Eennsm D@00 @:o@miRe), BB MSIOENIEMEEIIB G
SQREM) o BERIDY

A:-i, iii and iv
i, iii, iv

B:-ii, iii and iv
ii, iii. iv

C:-i and iv

i, iv
D:-All the above
QBSOS af)gioo
Correct Answer:- Option-D
Question40:-Which of the following statement is correct with respect to unnatural offences
@O AlGBELEIY GHQBOWIBSROWV MITWOS CIOLYORQY TRIAUNGEITE @@ wa@l?
A:-Section on unnatural offence was struck down by Supreme Court of India.
@D Al@EL &:Qo MNIMUWlyl Qltia] Meflo ed0s@ 0GOS
B:-Section on unnatural offence was partly struck down by supreme court of India to the extent of decriminalizing same-sex relations between
consenting males.
MUIDORYSS fTBaUROED ®azlgyels TLIAIBR MIMDEBEES G:YBERILRM CECDIG (SGIANGBED SHQBOPCOERC4YSs Q] EOUe200] Kt Myalle sl ogoss
C:-Section on unnatural offence was partly struck down by Supreme court of India to the extent of decriminalizing same-sex relations between
consenting adults.
(@OWoyBOTloAId ruaa. ggmaid ©odlejps LAY MINWERES GlEIMT G:QRIEBIM CEOVIM, B AlGBEL HYHDYe MenIMWla) Qlt], LmIRes Mall 605G RoUlB:a0w]
0Gossi
D:-Supreme Court dismissed petition challenging Constitutional validity of Section 377 and declare the entire provision as constitutional.
eauesm 377 Me0 REEMARISMI MIRMO® EaldBi ©.21QM a0el MYeflo E0SC OESHQPL FLAIM QUAITLOG REEMALISMIAIERIW @j6uidnlend Qe R
Correct Answer:- Option-C
Question41:-Right of Private Defense is available against which of the following acts:
©I9POQRMAIDIB FO@IOE (YT BHUWBODTIOG MVIBHIE) (JEIEEIWOTIPES @RAISIUBe RIBKAEM:
A:-Against acts done by public servants
£a0DJABTDEA 621QYM @YoTloB o
B:-Against acts done as per the direction of public servants
0D (JUBODBMOS MIBERUdIB00 £.21QM (@ IBYEWINC)
C:-Against acts done to defend the property of another person.
26Q0E QUBTIQEOS TLITTY M 150 6.21QmM @Yo 3l
D:-None of the above
AHE alOFDAUOWITRREY
Correct Answer:- Option-C
Question42:-Punishment to Public servant for disobeying direction under law and for non-treatment of victim are inserted as per
Moaee00988 TIde3uEBRU BRMMIEEBICMDIM. PEE® alBleNilEeIEm®IM. HalIDEJAUBOME:MES UBley DMMMUE]L] ¢aldomiIdlesmo
A:-Criminal Law (Amendment) Act, 2018
@@ ean (eeen®) mloa, 2018
B:-Criminal Law (Amendment) Act, 1993
@@ een (6eevn®) dmloa,, 1993
C:-Criminal Law (Amendment) Act, 2005
@@ een (eesn®) mlwa, 2005
D:-Criminal Law (Amendment) Act, 2013
@@ een (6eevn®) dmloas, 2013
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Correct Answer:- Option-D
Question43:-Which of the following statement / statements are correct with regard to dowry death
i.  The term dowry has not been defined under IPC.
ii. The death is caused by any burns or bodily injury.
iii. The death must occur within 9 years of marriage.
iv. Soon before her death she was subjected to cruelty or harassment by her husband or any relative of her husband for any cause.

(Tg\u)m 2EEMQYAQI ENIMWES Mo @MYIIMEEITE/ (@TRIAMGEI®E a@g®osn WEI?
IPC (@®900 mltomo ag) aiBe ldaiallafiglgy.
ii. agoO®laj eangsean WAEODIEMY aIdleE0 YRR AEEMo MVeAEBM@.
iii. allanaoe. egleom 9 ménymuﬂrrbgg'kd @E6Mo MeRANEEM..
iv. aeemowlay 0@oggMI’ @pAIges cdemoalBaoewr e8EmIAIMEO ogomEslaje MIMRAIMEOEI GEMERD PaIGAODIEMI AlewOW.
A:-i, ii and iii are correct
i, ii, iii agarlal ve@losmy
B:-i and ii are correct
i, il aplas co@loem’
C:-i, i and iv are correct
i, ii, iV agorlar ve@l@osm’
D:-All are correct
ag)gfoo WEI@IET
Correct Answer:- Option-B
Question44:-The offence of Criminal elopement can be committed by
@@ Beleaose g Qo 6.aIQIGYM@IET
A:-Man against woman
a@am Mlosoloo
B:-Man against man or woman
6J@UEMI MYIEWD oJ@BaHPOHONEIQ
C:-Man or woman against man or woman
0J@BaHEMO MW alETYE- af@IdLBD
D:-Man or woman against woman
MJOH T ojmariemd milewo
Correct Answer:- Option-D
Question45:-Z, under the influence of madness attempts to kill A. Which of the following statement is correct with respect to right of private defense
of A?
Z, oiladeo cunwlmonic A o 0800 walesme. Aqes MuIe:0e) JTIEEIW @AW MIMWEelS BMTln oM IRIAMGBE® BT WEI?
A:-A has no right of private defense as Z is not guilty of any crime
Z 8@ &:990y00a) @:Q@eMmeuom@IMmIm A gf i@y @Iolleeowamiiay @oalsoveals)
B:-A has right of private defense but not the same right which is available against a normal person
8T QABTIES TVIBI0Y TICEIWOTIMSS BRAIBIWYENTE, afIMIT BE TVIWIBEM QAUBTIOTIOE LIBNIY GREM GRAIBOUDE]
C:-A is having the same right of private defense which is available against a normal person
BT TLOWIREM AIBTIOEGIOE LIRAOL MVIGIEY JTICEIWATIMBEO BRED @RIGOW. A @ D
D:-A is having the same right of private defense which is available against a normal person but with one exception that under no circumstances
A can extend his right to causing death of Z
@ MLIWIREM AUBTIOEBTIOE LIBAID MVIBIGY IOICEILETIMBEO GREM @RAIG:IUBe A-Q) M, afIMIT BB @RAIIIG. HLSIOD, BB MVOANIRYBIR) Z-WBe0 areETINY
©006MAIBOMBB @AUBIW. A-aY migond @:¢lwlgy
Correct Answer:- Option-C
Question46:-R vs Govinda is a famous case which deals with
R Vs emoallm ©6d@:005% £.21QN GG (JUOTRAID EBITVIENT
A:-Insanity
@0
B:-Distinction between murder and culpable homicide not amounting to murder
BRI PDBYo HQYHEDIQ MDD ®ARISS QMM OBILIADEOTIM Delas)
C:-Ingredients to constitute the offence of rape
ENURIDMDMoWo :esgce;(omo&scmaﬁkro@g Bal@BQUBUB
D:-Doctrine of necessity
@RHURYB:OYES MIIRLOM.
Correct Answer:- Option-B
Question47:-Which of the following statement is correct with respect to the offence of criminal misappropriation under Indian Penal Code?
DB allnad esouwlny @ldlaes @lEln® GumalEone e &R MITWEe]S BMWlAJOQM @MRIAMGEI oB@oeT odl?
A:-Dishonest misappropriation of movable property, or converting it to one's own use.
ReUIB MVIOTMBOO TVGITVMLARITD GBIV, GROLYEBIT @R TVINMo DalEWINTTICRIES 20Q®.
B:-Fraudulent misappropriation of movable property, or converting it to one's own use.
201D TVIOTIBOO AlARIMIAIGAIQ) FERBaIEIN., «;Toegdbﬂmﬁ @O MVIMo DalEINOTIERIES 200
C:-Dishonest and Fraudulent misappropriation of movable property, or converting it to one's own use.
LoD OJ(\B&)%S)S ML@OTVMWAGOTDDo AlETRIMIIEAIVWDAIW FEIEQINo, ma%aﬂm} @@ VI @mc@ommﬁcma)“ mog&.
D:-Fraudulent misappropriation of movable property, or converting it to one's own use or destroying it.
LoD OJOBS)EGS QUERAIMIIRAIWY F@lEQIU0o, maggas{lroﬂ @O VIO QnJG(WOU)(OTDﬂGEIS)V mogﬁ;@m}o mtm'lnﬂ.ilmce;cmm Sm(%hﬂ:.
Correct Answer:- Option-A
Question48:-Which of the statement / statements are correct with respect to the offence of fabricating false evidence
i. Making any false entry in any book of record
ii. With the intention that it may appear in evidence in a proceeding taken by law before a public servant.
iii. Act amounts to fabrication of evidence even if no erroneous opinion could be formed touching any point material to the result of such
proceeding
iv. Principle of vicarious liability is applicable

QO EOFYBUD OB:Said.a] HQABIV] MW BT @ITYIM/ (@TRIAUME:E6NY ©al?
i, ageo®lep e Boad 0B E®D] CoaIeNSOm®
ii. 8@ 0uUDEIUBEDGBEO PNIOE: TWAEIBO afSERM BB MSaSIVIS DO’ EOSUV] (JDiEBHUOISI afaD DEFUEDMIOS
iii. @POmE. Msaileges ataioDleais cge®ilaj cal@lBd sadldom mdudlesm emgIL ERElWO. @ale:dlerom laos
ol
iv.  alleodleany awenield @i cowdeaosm
A:-All are correct
a)gfoe WOEI@oEM
B:-i, ii and iii
i, il @soem iii
C:-iandii
i @soem ii
D:-i, ii and iv
i, il @soem iv

gl 0 Mz eOEIHUB o3l gagamaiay
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Correct Answer:- Option-C
Question49:-Taking illegal gratification by public servants is dealt under
6a0@eTVIBAE Mlaal@mELAIV] MVl EMFIM@ IO HB:IFEBM
A:-Of offences by or relating to public servants under Indian Penal Code
B Wlesmlaowlr SFe)es FaIDEIABTMEM PEAIMEWI MIMLOAISEMI BB EHQYRDTRUS
B:-Prevention of Corruption Act
@pdlaci mleeowm mla.
C:-Both under Indian Penal Code and Prevention of Corruption Act
amym wWlemo wloaomilm. @slac mleeowm mloacmlm. eldlaj
D:-Under Service rules
mudallmy’ Qeeudes’ sldlod
Correct Answer:- Option-B
Question50:-Mensrea is immaterial in which of the following offences under IPC
IPC (#0088 eTlojoQim a@®) &:ge®onilens eamuile @oajwome
A:-Public Nuisance
0al0® Rl
B:-Kidnapping
®SOENIENZEOD DD
C:-Waging war against state
BEEMESTTOMTIOE QYR Ba1QS:
D:-All of the above
QHE@D AlOODAOWEIe
Correct Answer:- Option-D
Question51:-Where no sum is expressed to which a fine may extend, the amount of fine to which the offender is liable is
afle @lgo0)m D&e@OMM. @@SlaflEnom MA0.aIRKOBIMS, QIS MIWIMNMID alldwes @&
A:-Rupees Thousand
@RIR. @al
B:-Rupees One lakh
BT LldHo (@al
C:-Rupees Ten thousand
al@lmoiee @al
D:-Unlimited but shall not be excessive
@remeldgal’ agmomd erdloacidema
Correct Answer:- Option-D
Question52:-Which of the following statement is correct with respect to theft, roberry and dacoity?
620N, @B, ®Sla] agMIAIQAOV] FITWEIS MO JIRIAUNBSID ogos vdl?
A:-In all theft there is either robbery or extortion
Qf)gjo GRAOAUTNOTIIRJ BAPBIT BB 4/6I eu’ls’l_rgnJ(ﬂccmo o
B:-In all robbery there is either theft or extortion
2l &BDlaje BTMEBIE 6R0HMERY allSlgjaicle™d pene’
C:-In all theft extortion is either robbery or theft
Qf)ejo GRAOAUTNOTIIRJ HAIB4IEDO EGAINUEMEAI QNE
D:-None of the above
ABHEI®W AlOFTMAUOWIMRRGY
Correct Answer:- Option-B
Question53:-Which of the following test is applied while awarding death sentence?
awudlen allulessmiod emlajo@m aldleueglod agmoen @ewouilesma?
A:-Crime test
©6@o OSTY
B:-Criminal test
@@ esqy
C:-Rarest of rare case test
@B @B EHMY HSTY
D:-All of the above
ABHEIW OOV
Correct Answer:- Option-D
Question54:-Electoral right under Indian Penal Code includes
i.  Right of a person to stand as a candidate at an election
ii. Right of a person not to stand as a candidate at an election
ili. Right of a person to vote at an election
iv. Right of a person to restrain from voting at an election

i alm@d eaouls sldlaiss dlessmmgal @RAILIROHIM LUdealgM

i, emoemmga]od muomodmilwow] Wmemes B ABOIQeS GRAIB:IU.

ii.  emoemmgcd munomdmdl@o] MlaEITldlenomes B ABMIQeS @RI
ii. emEeEMZAT cageaIYIREs B® ABTIYeS ERAIGI.

iV.  omeemmgafled 600 agmalcd dlmy 8w aysolges @rIBIw.

A:-i and iii
i @soewm iii

B:-i and ii
i @soem ii

C:-iii only
ili @0@o

D:-All of the above
ABHEI®W A0SV
Correct Answer:- Option-D
Question55:-Which of the following kinds of hurt are designated as grievous hurt:
i Disfiguration of head or face; Temporary or permanent
ii. Privation of the hearing of either car; Temporary or permament
iii.  Privation of any joint
iv.  Dislocation of tooth

©969aj0QRMARIT age®eIte MEOTIAES AGlqeaeM YH®E20 gdlael vl fdesamay:
i. @RIYOSEWI PAOTIMOHOEWI (@BalERRo, MITEnoalle:end mudleend
ii. AROOBIR)e BO0IMO0 EHUWBAIYeS MUIBIEKm, MImenteleend mudeend
iil. ogeo®dlep MQSMOTIMBEHO TVIBIRK®
V. aglldeo muoomE.wee
A:-All of the above
ABHE alOFDAUOWEII0
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B:-i, ii and iii
i, il @soem iii
C:-iandii
i @soem ii
D:-i, iii and iv
i, iii @soe® iv
Correct Answer:- Option-A
Question56:-Mukesh and Another vs State (NCT of Delhi) and others is popularly known as
Qedao 26Q0@ MoanoMQYe (NCT 80ad’ an@dadl) 298801 @A@enjgmaY
A:-Nirbhaya Case
aldew eemmY
B:-Marthura Case
20B®O BHMY
C:-Vishaka Case
allwos My
D:-Naz foundation case
MM aNDEENRAHMB GBI
Correct Answer:- Option-A
Question57:-Unlawful homicide includes
T2alBELED ME®) OUBRIFID
A:-Rash or negligent homicide
GRUDELDIY BRESIEI BOUDELAIW MDD
B:-Suicide
@ROBAODY
C:-Causing of the death of child in the mother's womb
@RYES NBRAD@OTID BHSIQYOS BEEMABIM B0EEMAIB:MD
D:-Both (1) and (2)
(1) 2 (2) oo
Correct Answer:- Option-D
Question58:-In which of the following offences death punishment is awarded:
i. Kidnapping for ransom
ii. Abetment of suicide of an intoxicated person
iii. Resulting in permanent vegetative stage of a rape victim
iv. Attempt to murder by life convicts

Ml jomaRITd BOmIOE GQEBEIRI6M QAIWUBBH MBI
i, e20amEETImI] @FleEnsmzealosd
ii. 260l 8EOEES EROERAO® GajesD
iii.  eneIEN.LETIM EWIL B ABTIWYeS WILRIORIW AIBAa0 ceISOTeaIE MR
iv. glaaieym. QOIBEOS OBILIDOBUDR
A:-i only
i 20@o
B:-All of the above
QBHEI®W OOV
C:-iand ii
i @soem ii
D:-i, iii and iv
i, iii @soe® iv
Correct Answer:- Option-B
Question59:-Where an offence is committed beyond the limits of India but the offender is found within its limits, then
DRSS m(a?m’l:ssmptggg 6@ HQHOYe H2IQej HQAUIEIO® ERTIMEO aAdlWlERaHltd &eMmOTwITd
A:-He may be given up for trial in the country where the offence was committed
Qo ©alQ EIWOD GRAIGM aflaEMEY’ Allge®:I5EM 0
B:-He may be tried in India
@PERANOHOD DADI@ QllaldEeM 6).21Q)0%
C:-Either (1) or (2)
amelod (1) eoeg@lcd (2)
D:-Neither (1) or (2)
(1) coog@la (2)
Correct Answer:- Option-C
Question60:-Which of the following statement is not correct with respect to defamation?
2OMNMYQYR0W] ENINWOAS oM MPIAIMGE® ag@oem ddlwe?
A:-Making an imputation concerning a company is not defamation as defamation can be made only against human beings and not against
juristic person.
8@ HMIMIQROD] MIMWEeS ERAIBIBTIOASEDIMT® ERAIGIBOTEBEREG), ©IEMe BIMMYe DMUBES afTEIV] 20@ER MSEMIM &R, MLraIERIR ABTle®TInEWLY
B:-An imputation which is expressed ironically also amounts to defamation.
alle@awdEIMRW (&Sl fleBmm @REsYaIq) ERABIATTIRGERMWEIN ®eaiaosm’
C:-An imputation which is true and which is made for public good does not amounts to defamation.
MUOQYo HaODMMYQEUMNEIQYSSDAD BT @RYEBUal CRASIATTOajSEDMTIM @ara).
D:-An imputation made on the character of another person if it is made in good faith and for public good does not amounts to defamation.
26QI@ QUBTIQOS VIR Glojes lo Mgy AlleMETBIal Hal@MM@Y. CAUMEIRESIOEMEIT G ERABIAOTIPFEDME Deiee).
Correct Answer:- Option-A
Question61:-Which of the following statement is correct with respect to adulteration of food or drink?
ESUMOTIERI a0MTOTIEAI0 2o GalBERMDAW NIMLEIS BTl oRM MRIAMEBE® BT EI?
A:-Adulteration of food or drink was earlier dealt under Indian Penal Code and now repealed by Prevention of Food Adulteration Act 1954
EEUMOVIERI a0MTODIERID 20We BalBEBM®Y EMEEOM MMM Wleuo Mlwaosiln Bl¥lenlman, a0 e AW, calde@d Mleeowm Mlwa. 1954 w@:oe. 0goss]
B:-Even after passing of Prevention of Food Adulteration Act 1954, Indian Penal code is still having provisions prescribing punishment for
adulteration of food and drinks
1954-601 coMy 200 GalBH@R SV MR@e ATVISIVIM GUBANY, AN Wleao MWACITE EHHEM alMlwEREIM® 20wo caldmmaides wWlou aluwlesan QUITOOBSETE.
C:-Indian Penal code was not having any provision prescribing punishment for adulteration of food and drinks even from its inception.
B Wleyd MOAETIMEO0 @S YO @HM EHUEM aldMlwaRElcd 0. GridgmmMEINY wWlewd alulesan ayaimasegome. peeoiaariyy.
D:-None of the above
QHEI®D Al0OMAIOWITRAL)
Correct Answer:- Option-B
Question62:-In which of the following offence preparation itself are made as substantive offence?
©@06PJOQINAURIGB aBOBIOE HQBITRUBL OQIGOFEBD afMND GO BHOOYAIW GQRIW] BEMENIEBITD?
A:-Rape

BNIRIDBMVoUo
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B:-Murder
)& IR0 dho
C:-Making or selling instrument for counterfeiting of coins
MIEMWEBRUB QUPBAIEBMTIRSS Oald:E6Mo ildanil o Qfl@d Q0 ©21Qd

D:-All of the above
QHEI®W A0SV
Correct Answer:- Option-C
Question63:-Harbouring offender includes which of the following person?
a00@6nIFlotY &SI ©0OPajOYMAIGIT EREIEE DUBeIFITD?
A:-Who is abetting commission of an offence
@REA BB HQBHOp HaIQIM cal@laflesmay
B:-Whoever knowingly assisting an offender to commit a crime
QIO HYHDYe aIQOMB GENIOWaBQY TVandTlEIMAIM
C:-Whoever knowingly concealing an offender who committed a crime
BB BHQPOL0 621Q GBSO ENIOWIBYe M0 4SBT
D:-Both (2) and (3)
(2) 20 (3) oo
Correct Answer:- Option-C
Question64:-Extra territorial jurisdiction of Indian Courts to try offences committed out of India can be exercised on
D@3 T’ MSERN SBQR@EERUS allaEM 6.21QYMGIES DM etISTleges @ouwle @Jerwld: @PUWl®:eElWl Bmlajogm dlocleglcd @ewoulemanummos
A:-High Seas
OWAMM HS®D
B:-Land
@
C:-Air craft
@B @9ag
D:-All of the above
ABHEI OOV
Correct Answer:- Option-D
Question65:-Which of the following are justifiable exceptions:
i. Necessity
ii. Insanity
iii. Private Defense
iv. Mistake

DTlojoQIMAIRIE MP@A0® BFlAEB)B:UB ag@moem?
i. @k
il. @
iii. uemoey Woleeows
iv. ey
A:-All the above
QBEITB alOATOAIO®EJ00
B:-i, ii and iii
i, il @soem iii
C:-i, iii and iv
i, iii @soem iv
D:-i and iii
i @soem lii
Correct Answer:- Option-D
Question66:-Which of the following statement is not correct with respect to the offence of Kidnapping or maiming a minor for the purpose of
begging?
Eloi0sMOTIMNIT] (OWaBTIIBHICD BEIOS OSIOEIITEEDBHEWI @R AUBIDHEDD H2IGPMN &2V ITWEIS IDMlejOQYAD JTIRIAUMNBEIT o@osT wdlwgy?
A:-Begging also includes using a minor as an exhibit for the purpose of soliciting or receiving alms
Aoy @peidadesmalemo aulle:@lermmailemo el @oajdoTilIsITmAeE B @BAWMAIDS DaleIUlERM® EleusMOTIT LudealgMe
B:-Minor under this section includes a male or female under eighteen years of age
0 alleonaBilay’ HlFIT @OWBETWIBIEDAUEITS alGlOMS ARMIM @IOYQYESS GG ofBaHMd EREGEIG Mylg PUBqFM
C:-Entering on any private premises for the purpose of soliciting it also comes under begging
@peI3alemM@INIw] age®mEslaje NI MUNRITD (JEAUBIERMDo WOAIMQEeS aldlWllmd aime
D:-None of the above
HEI® alosTmAO@IM
Correct Answer:- Option-B
Question67:-Essential elements to prove criminal intimidation include:
i. Threatening a person with any injury
ii. The threatening is to the reputation of any one in whom that person is interested
iii. The threatening is with or without intent
iv. The threatening is to cause alarm to that person

&ldn@d douerl eogdolesmailess @palvey aIS®:ERUd 2UBeagIT:
i. AReOBlaj AIFlER®EEs B8 AlOTle Elauamlnggaman
ii. @R QUBTIES @IC|OYSS FO@IT® AUBTIQROSQ. @JUemyles Elousmiloem’
iii.  daenloqSEDMo DERUIEETMINSEWO GRLIOMEWO @R
V. @R awtlew aElEoMmEIERImasT Elauer]
A:-i, ii and iv
i, il @soem iv
B:-i, iii and iv
i, iii @soe® iv
C:-iandiv
i @soem iV
D:-All of the above
ABHEI OOV
Correct Answer:- Option-A
Question68:-Which of the following statements are correct regarding common intention under Section 34 of Indian Penal code?
i.  Common intention denotes a pre oriented plan and acting in pursuance to that plan
ii. Common intention must exist prior to commission of the act in a point of time
iii. Common intention also includes similar intention of several persons
iv. To constitute common intention, it is necessary that the intention of each one of them be known to the rest of them and shared by them

B e rloacsilea amueumd 34 eSS FaldDAN® PERWe TNl Mlajomym @TRIAUMBEI oF@ET ©a@l?
i. 600D 96GWe B FMBRA alRLTlO® Myalaflesme, @R alrLOIE) EPMMY®LIW JaIBODIEsmm
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ii. e oo @ @adflaumd amq@(mmﬂm“ QN DN DEZUY MRIMIT3ENEM
ili. eal@anw peaC fled dfleciwd]l aieoleges mam peguij uBeg
IV, ©a0200® 963w @alOaSEDMM@IM, BICEIBOMMBOSQ DERW @RAUWBKANT NIETQYSBAINE GRCIQEQ @OAIB alBlSe:Q 6.21Q)d
A:-i and ii
i @soem ii
B:-i, ii and iv
i, il @soem iv
C:-i, ii and iii
i, il @soem iii
D:-All the above
ABHEI®W A0SV
Correct Answer:- Option-B
Question69:-A for the purpose of inducing B to desist from prosecuting a civil suit, threaten to burn B's house. A is guilty of
a@ mial® eam’ seomies e.agmaoic oy allgmlcdamod B o cajdlajenmailay, B @es alls e:onilasean’ dauemiloasome. A @:qenoomosm?
A:-Extortion
OSOWFEHDD
B:-Riot
»HEl0ale
C:-Annoyance
REYPYFOOTS
D:-Criminal Intimidation
@@ Eloeilonigomad
Correct Answer:- Option-D
Question70:-Provisions of Rape under IPC was amended by which of the following Amendment Act?
IPC (#0088 en1e10mrenapitec aainungud @IeeajoQam ooy 6esunel Mloacnieeswasn 6ee0d 6a1Qa?
A:-Criminal law (Amendment) Act 2018
@dln@d . (eeenol) areg 2018
B:-Criminal law (Amendment) Act 2013
@@ Ml (eesnol) areg 2013
C:-Criminal law (Amendment) Act 1983
@dln@d . (eeenol) areg 1993
D:-All of the above
ABHEI alOFDAUOWEII0
Correct Answer:- Option-D
Question71:-A find a ring lying on the high road not in the possession of anyone, A has taken that ring and sold it. A has committed the offence of
BYBOSQY OO QPO BB GBI HOa0 600WI@ Blsesna A @:emonl, A @ 6a0dice ahgoD oﬂg. A dloneeeims MsovligerE
A:-A has not committed any offence
A 8@ &9k ea1gigley
B:-Theft
GAIaHEMo
C:-Criminal Misappropriation
@@ FBalEOUe
D:-Mischief
allgol
Correct Answer:- Option-C
Question72:-Rigorous imprisonment denotes
&Jm @sal myallaflesm
A:-Imprisonment for life
2lQlaleym. msal
B:-Imprisonment for more than 10 years
10 ool 5o msal
C:-Imprisonment with hard labour
SOIMOWIMEOMOgESlw msal
D:-All of the above
Q@D A0SV
Correct Answer:- Option-C
Question73:-When two or more person by fighting in a public place, disturb the public peace, they are said to commit the offence of
©E6MR0 @RDIRIWIHER0 QAUBTIEUS HANDIVNRITT AULESS HalODIVBIWINATIM Rotle AUMSBLEMIND, @RAIB H:Qo smuym‘mo@ﬂ AlO@eagam.
A:-Rioting
&EeI0alo

B:-Thug

@
C:-Criminal Force
&N Gandg
D:-Affray
@G0
Correct Answer:- Option-D
Question74:-Which of the following statement is correct with respect to the offence of insulting modesty of women?
MBEes 2OMGOV ERABITIERM QYR IMWEeS’ BMlORM MRIAUMGEIG a@@6Ty ©a@l?
A:-Mere utterance of words, making sounds or gestures or exhibiting objects is enough to constitute the offence
6QIQo ARERD:SEES ©.2J006Mo, UDETYETRUD @REYDIT @RUIIEERUS @RELYE:I mrrg:ss)ua @edWla]len@d agamilal &:Qo 6.21Q0M alegq@oey
B:-Utterance of words, making sounds or gestures or exhibiting objects with intent that such words or sounds should be heard or gesture or
object should be seen by such woman, is needed to constitute the offence
@ROOOo QIILRHESO UDENYEERESD EHUIEHEMOAEMI @RYUYEAD QITREAID @ROM @0 Y6 BEMEMODEMI PEFUBEOTIOS QOEBHGOS D2J006Mo, VOETYEIRUD QIR @RYoUEBRUD I
QUTRHOS @BAWla]len@ agarlal #:Q@®e Mundalesmailn’ eraivei@osm’
C:-Utterance of words, making sounds or gestures or exhibiting objects with intent that such words or sounds should be heard or gesture or
object should be seen by such woman there by intruding upon her privacy, is needed to constitute the offence
QU 0 lrﬂm75 CHUBEEMOBEMNI @R)oNJEAD OJ(\BGO.IO (HTBO.I%S)S
UIB0ROWIDD ¢ QHQOIOEETE Jo! 865 92J006Mo, VYRS EOEKEBITE EUEEEUD ERERIEIT ATRES BAUGR S, &EBMP Mundalesmim @ralwooss.
D:-None of the above
ABHEI AlOFDAUOWIMRREY
Correct Answer:- Option-B
Question75:-A police officer asked A the question "who stole B's watch". A points to Z, intentionally to cause to be believed that Z stole B's watch
which was actually stolen by C. What was the offence committed by A?
8@ canelmy pespnmuam A cwos "B @es anal caoalae @poem” ag ansy candla). A Z caiss can@lmd eaga, 2MayBaye Z 60051 B @es awsi C @reny sassyflsiomary
allweirndlenom eswossae. A ©alQ &Qo afmoem?
A:-Defamation
@RIBIBOT O 5O
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B:-Giving false information
6®Qo® aflaIeaRLd Mm@ds:o
C:-Giving false evidence
ORI EOEIYHUB M@BM
D:-Cheating
QuerIm
Correct Answer:- Option-A
Question76:-Which of the following should not be the common object of an unlawful assembly?
MlajoQMAIRIod agmosny MlanlmeunIw BEDEEalBE0 HalnDalsH GROIClEr@?
A:-To resist the execution of any law
aBeOEIel M. MSafelnamm@lom 6.21Qenad
B:-To commit any mischief or criminal trespass
afOmmEIRje 6(3aNER0 GlAM@ @RMIGACRO 621D
C:-By means of criminal force to compel any person to do what he is legally bound to do
@lN@ NILIERINTTIEOS aBOIT QAUBTIQIe @I MIWAIEAIVS ©.21Q0M RIDWITVOMIT EHIRKIBUY 621QOM Mmidemnimulesds:
D:-By means of criminal force to any person to take possession of any property
@@ NILIJERINTTIROS aGOOT QAUBITIER. aBODESIRj QUTRAUBEUD HOBAIREFOMITD
Correct Answer:- Option-C
Question77:-A public servant is punishable for framing an incorrect document if
i. He is charged with the preparation or translation of any document.
ii. Even if heis not charged with the preparation or translation of any document
iii. Framing a document which he knows or believes to be incorrect
iv. Framing of the incorrect document is with intent to cause injury to any person

OMYP® BB GEEI PFMNRISHWIT B HDJUBODE:M EWBUOBaOMIEM
i. aEO®Baj CUIBYEAMA MQIOIEBM@IEMO AlIBEmM. O2IQYMGIEMO EP@IBE d:Qe AYATTIIZENE.
ii. ageo®law CAWIBOAME YIOIERM@IEMI AlaIBEmMe ©aIGMGIEMO EP@IBE d:Qe YYAOTIIZENE.
iii. @A erdlgmMemd eE®FIBEMMY AlLITIERMEMO EH BB @JAEM. BalOaSEDID
iv. emgow cr\no&pmn&(ﬂ(ﬂmo 600ldltY 3e®Im ABTIlER alBlEE@afleRd: af)IM DEFUEOMINSOET
A:-All of the above
AHEB OOV
B:-i, ii and iii
i, ii @soem iii
C:-i and iii
i @soem iii
D:-i, iii and iv
i, iii @soe® iv
Correct Answer:- Option-D
Question78:-Which of the following statement is not correct with respect to the offence of undue influence at election?
Dleemmga]od @oMmoaIUey MVINWIMe EaIBJEBIR E:QAYR0WS IS NlaoQM @MYIAMEGEITS agmoen wdlwey?
A:-Whoever voluntarily interferes or attempts to interfere with the free exercise of any electoral rights commits the offence of undue influence
at election

o

ol /=Y Sof @RAIBIC 865 MO AlrleINOBITE MIEAW®I DSEAIFHEWO DSEIFHEWI HaIYPMAIB TGlEEETIFE @MILRY TLIUSIMe H.2IRIEID &QRIENTY
£.21QNOY
B:-A declaration of public policy or promise of public action also comes under undue influence at election even if without intent to inference
with an electoral right
600® MYOBIMBOO @EPAIMER HalI® (AUBCMEBIMBOO ABIMER) H®EEIMFAIE @MY MuRWImEBIM Alewads:m, GG TleeaTF] EPAIBGIRARI] @RMERIMEIM
oequedlegiEslial
C:-The attempt to induce a person to believe that he will become the object of divine pleasure is also interference
@0 6660ls: @MIBETM alo@acs:eam allimMilenom a8 ABTIE Gadlnflermss Ewagl sealsalem’
D:-None of the above
AHEI alOFDAOWITRREY
Correct Answer:- Option-B
Question79:-Which of the following is correct with respect to the offence of Criminal trespass?
@D @S0 0O SIS NIMWEAIS BDTlajoQINAVIE ag@oeny dl?
A:-A person can be held guilty for committing criminal trespass if he enters into a property in possession of another with or without intent to
commit any offence.
ABOOBIRje HHDY 6YINESS DEGULEOTIOSEWO ERRPOMEDDI BHRIEIZES PSATLAODILSS &G mn}goﬂmﬂ B0 (D40, @AM EROIGa. MSOVIVINY BG QAUETIOW
@gmaromaﬁma
B:-A person can be held guilty for committing criminal trespass if he enters into a property in possession of another with intent to commit any
offence.
ABOOBIEj HQBDY O2IQIMNSS DEFUETTINS 263000865 osamuooiess 8w mrrgoﬂmﬂ 803 (@EAIWElaP@, GlAM® EROlGa. MSETWGIM B ASTIHW EHQYLHIRMIENI
C:-A person can be held guilty for committing criminal trespass if he enters into a property in possession of another even without any intent.
B@ PEFUGY BSIOD LOQIITES PSAMNOWeJSS G mn’gm’lm’i @eulao@ GlM@ ERGGa. MSETRGIM B@ AUBTIHQ BHQEIEMIEH 0.
D:-Every unauthorized entry into or upon property of another by itself amounts to criminal trespass.
260000865 LICHIERICEND @RMICRIEENI OB BRMWIHM (JEAIBM. @XM EROIGATTIM Dannos.
Correct Answer:- Option-B
Question80:-Which of the following statement is correct with respect to provision in IPC regarding restriction on public servant in buying or bidding
for property?
iy QERMGilemd etk alglesmailemd 988 Ea@ETAIBMEO0 WEDEM. MM, Sagalmileloal AITINQADS IMWES Mo @ITYIAUMBEDD agmosn wdl?
A:-The provision in IPC prohibits public servants from purchasing or bidding property in their name
eagallmilaileal aaIma ©aldDEJAUBOTDEHOE BOAUMSS CalGlE3 LI AUOEBRM@IEMI Galtl emu@«nmﬂcmo alleigsamo
B:-The provision provides the public servants can purchase or bid property in their individual name or jointly only after getting permission from
higher authorities
£aDDETVAUGAES @OAIROS AUBTIND CalBIERID MIQYBMAIEWI M@ @RUIE:IBlG:EIm Mo @AM LIEl 4TI Ut RI@ER MLICT QIEBBIEMI GRIRl §.aIQOEMI BFIQ)
C:-The provision provides that public servants are restricted to purchase or bid for certain property which is determined based on some
statutory law or rules or regulation
afle) dleaomay® mlonsmsed eoegElo agasud GoegEle dloememnud agmiaee a@pslmnomads] dmldapeilalges aler ampaseud aommailemd ekl alglesmaiemo
6a0@6MAIBA aldldl®meqsorieldesmealaTy aImun M@E:a
D:-There is no provision in IPC prohibiting public servants from purchasing or bidding property in their name
£010DJAUBTDG:EE GOAUGBOS EalEIEd VI ABRIM@IEMI ERlRle §.2IQMEIEMI alleIEsam G AAIMING. Sagalmilaicd way
Correct Answer:- Option-C
Question81:-Which of the following terms are used while dealing with the offence of defamation?
i. Imputation
ii. Aberration
iii. Innuendo
iv. Public good

@RAIBIBOTOISOD@ af)M B:Qo OB HIO0 £2IQEM3 DT joQ alB@BEI BOGOEBWI Pale@oUTlERM®?
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i, &geqgom@
il. @PaIEowee
ili. eMaagBewd
iV. ®an® mm
A:-i, iii and iv
i, iii @soem iv
B:-i and iii
i @soem lii
C:-i, i and iv
i, ii @soe® iv
D:-All of the above
ABHEI®W OOV
Correct Answer:- Option-A
Question82:-Which of the following statements are correct with respect to the offence of Receiving of stolen property
i. Dishonest receipt or retention of stolen property
ii. Knowledge at the time of receipt that property was obtained by unlawful ways
ili. Punishment is imprisonment for a term extend to 3 years or fine or both
iv. Itis necessary that the accused should have had manual possession of the goods

620ayla) TVIODY ea@rﬂgo‘mﬁ MVoENIMNUW4] HQBHDOOD MVoeNIMUa] EDMOQAM (JMYPIANBSID ag@osT vod!?
i cooayly agaladen mumyrmuagoon omio eregElcd mlaimldoma
ii. desclaaece adlesgams@osm o mumdlaemm emio’ mawen @rdlal
iii. Wou 3 adae e Mg ®sean allvewo GrEgEIT GaTE. @Slewo @rENY
V. @oiles mowmEERud TLIEW®O HOBAI. QIEQETRG @RYOUWRYRIET
A:-i, ii and iii
i, il @soem iii
B:-i, ii and iv
i, il @soem iv
C:-iandii
i @soem ii
D:-All of the above
QBHE®W AlOFODAIOWEIe
Correct Answer:- Option-A
Question83:-In order to punish a person for doing the offence of Public Nuisance under IPC which of the following conditions has to be satisfied
i. He must have done an act
ii. Actoranillegal omission makes him guilty of public nuisance
ili. 1t may cause any common injury, danger or annoyance to the public
iv. Common nuisance can be excused if it causes some convenience or advantage

6af)allnd] (@Jd000 HaID WBalk fIM Qo HAYGIM 6EI6E WealesmGIM DMlnoQam AAIMABEI® BT aloaleerrd
i, @pad 6o oD ©agldesme

ii. oo aregele MwaalaeLac® BFAENTS BRAIBM O UERIDIHIM GHQEBRMOERITD

iiil. OO PDBMEBABE HANDA afOME B AIGIEEHO G@DAIBHSEDI VIRIERD PEMEIEHIERE0

V. oowoeem wele aemmeslaje TUDBELEA0 EMSER) DEBILTOOBITE @o®) BalEroqIMMosY

A:-i, iii and iv
i, ili @soem iv

B:-ii and iii
il @soem iii

C:-i and iii
i @soem lii

D:-All of the above
QBHE@D AlOFODAUOWEIe
Correct Answer:- Option-B
Question84:-Whoever, either prior to or at the time of the commission of an act does anything in order to facilitate the commission of that act, and
thereby facilitates the commission thereof, is said to
8@ ERRIMBE0 Gellaicd MYaIEBMTIMIY EREEEIR), ERGIM YEMIO ER@IM YEMID EREGIEIT MIPVETMI )OS EaIQPIT, ERTIROS ERTIMBEHO BHAFlUMD MYWABIEBME.
A:-instigate the doing of that act
@R YO ©21QIM e)@laflens
B:-assist the doing of that act
(@YD ©.21QOM VAN EBE
C:-aid the doing of that act
@) (JYOTI 6.21Q0M MaNIW]EBE
D:-conspire the doing of that act
@) (YO 2108 BAUYIERIDAIM MSTDE
Correct Answer:- Option-C
Question85:-Which of the following ingredients are necessary for constituting the offence of Criminal breach of trust?
i.  Criminal intention
ii. Entrusted with property or personal matters
iii. Dishonestly converted such property to his own use
iv. Failure to perform the personal matters entrusted with

@@ alltenaV AleAaIMe af)M E:Ge GaIOalgERMEM MROQM EaIBABGSI® FO®EJe @RAIURKRIEN?
i.  @dow 9eguwee
i, oo eRegEl@ QIBOTlaIER0® B0EKEBUS aR@Baflaldlasmo
iii.  avoymMWOIgPE® GROMmE. TVIOTY VI Pale@ONOBIMO] a0d]
IV, ag@Baflal QIe0llalono® @00i8803 MlBAGERMOIGE lE0BWE]5ID
A:-i and iii
i @soem iii
B:-i, ii and iii
i, ii @soem iii
C:-i, iii and iv
i, iii @soem iv
D:-All of the above
BHEI®W AlOFTDAOWEIe
Correct Answer:- Option-A
Question86:-Which of the following statement is correct with regard to the definition of Public Servant under Indian Penal Code?
o8 wWemmrloaooin Sl¥laes e’ erBE aMailBeo mldaama@ow] cMIMWens Bilao@M @aYIAMGE®S agmoen wdl?
A:-Person falling under any of the description of Section 21 of IPC are public servants if they are appointed by the Government
IPC @eos equaeum 21 adeo agoosslial alaesmonia’ sldleiss aem] mud@od mloalgo@d £alo@eiaidomdeosm’
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B:-Person falling under any of the description of Section 21 of IPC are public servants if they are appointed by the Government or not
IPC @es eaveum 21 @eo agemelej alaeemamlay sl aiman ayenl rudenod alwal e Sl IRj ©aNDIA) 06T
C:-Definition of public servant under Prevention of Corruption Act is in pari materla with Section 21 of IPC
@nladi afleeowm dloaown #ldlaes eqn@emvaedeo aldalaime IPC @es 21-:00 aigajd muaomasesny
D:-Member of Parliament, Chief Minister and Ministers are not public servants
al0@219amd’ @R POURTIQ. ACT2ITe HaldDIAIBTDEO
Correct Answer:- Option-B
Question87:-Whoever commits a public nuisance in any case not otherwise punishable by Indian Penal code shall be punished?
MM UBlBHIMIQAQ)EHO0 UBlBE AJSOOTD) J18jo TVOAD. o8 ald® wele Oagmmad WBlealloealge?
A:-With imprisonment which may extend up to 3 months and fine up to 1000 rupees or both
3 20mve aiee @sqe 1000 @al aiew alleq. @regiEld oo @]
B:-With imprisonment which may extend up to 6 months
6 @0me aee MiglcEnaam msal
C:-With fine up to 1000 rupees
1000 @a! e ofle
D:-With fine which may extend to 200 rupees
200 @ e digle@Enonya afle
Correct Answer:- Option-D
Question88:-X instigates Y, a minor girl below the age of 18 years to commit suicide and Y has committed suicide. A has committed the offence of
18 aoqin @erQes @OBolwIsIam eumeslon X @RS §agIM cadlfeaeqo Y @poRa0my £ageqe 0ag. A doaekeaims. msoolalgen.
A:-Abetment to commit murder
B)HILIIIDM o MSOMIMBS GlaJ@6M
B:-Abetment to commit suicide
@RYOBAODY 6)2IQPIMSS GlaJO6M
C:-Culpable homicide
BHQHODIQ MDY
D:-Murder
DRI dho
Correct Answer:- Option-A
Question89:-A and B were quarrelling with each other. A took a gun from his pocket and fires towards B. But the shot hit C and C died. A had
committed the offence of
A @9 B @0 aleayee endleasidiam. A saoemda dmlan cmos «ggon B & cmee sasioldgn. agmaed cas C olm @] eromocd C adly. A ©ag g @6,
A:-Culpable homicide not amounting to Murder
&N@ MEAO®Y OSBRI O EOTIM @ancey
B:-Murder
HILIAIDdo
C:-Causing death by negligence
@REORLYLIYSS AO6Mo
D:-A has not committed any offence as the act falls under the defense of accident
@G @aIBSOTIRE0 (dleeowdpia) slslanwalmocd A am @:Qak eaigisle
Correct Answer:- Option-B
Question90:-Landmark definition of obscenity is established in the case
apFleioqes enmnpodes mldaame eamiled muadalsligen:’
A:-R v. Python
R V. eesniomend
B:-R v. Prince
R V. @fladay
C:-R v. Hicklin
R V. adlgilad
D:-R v. Bedingfield
R V. esnicsletadlmdon
Correct Answer:- Option-C
Question91:-Which of the following statements are correct with regard to the offence of criminal conspiracy?
i. The offence of Criminal Conspiracy was introduced vide Criminal Law Amendment Act
1932
ii. An agreement or understanding between five or more members for doing an illegal act
iii. Itis immaterial whether the illegal act is the ultimate object of such agreement or is merely incidental to that object
iv. Not necessary that all conspirators should participate from inception to the end

@IMN@B BUGRIAID af(D EQAYAIW ENIMWEAIS BTajOQID JTYOUNBEITD ogmos wdl?

i, @dom don eesnol Mlen. 1932 @e:oeacm @lma BuLIeadalm afa @ge @RAIOGl] e

ii. dosaleewee 6o oo £.21QM@IMIT] @EsDI0 EROIIWER0 @RNEEBUS «mmﬂedgg osmus] @RegIBIT WM

iii. l2almeLEIY YT BROMEe EHEICIBOO BRDTVIE: LIGHANICENI GREMI @Ry m«&nﬂm‘ €HQIBl MVIMBAEB:ROEEMI M@ @REJWIMIREN.
IV, ag)gjo BUIERI0AIMNEIC. SEo YOT @OAUTVLIMo QAUOG AlOBIEEMOM Mldenimwadley.

A:-iii and iv
ili @soe® iv

B:-i and iii
i @soewm iii

C:-i, i and iv
i, il @soem iv

D:-All of the above
QBT l0ATOAIO®EI00
Correct Answer:- Option-A
Question92:-Making of a false document with intent to cause damage or injury to the public or to any person commits the offence of
£al0@BMOTIEMI oGOEBIeje QUBDIEEHI MIMYERD AICIEEN) DEMBIERH g DEFUCOITINS ORIV GEE PENRISBANGY
A:-Cheating
QeIM
B:-Falsification of documents
CEAIBEOS BTl
C:-Criminal misappropriation
@@ FWBaEIUo
D:-Forgery
QULORo
Correct Answer:- Option-D
Question93:-Which of the following statement is correct with respect to the offence of assault?
@REGR6M B:QYROW ENITWE]S DM jOQYM JIRIAUMGBEIE @@ (odl?
A:-In order to constitute the offence of assault there should be some act from the part of any person and making of mere gesture is not enough
@RSD6Mo af)M HQo 4YREDMDSIM oFO@Blaj AUBTIReS BINEDTIM afEEIa QYO QEMEIRIEIEEM., HAUQ @RWEIRUS 2@ ATIWIEI

14 of 16 Friday 20 December 2024 12:59 PM



Home Page http://192.168.1.6/dept/modules/marklist/answe...

B:-Making of mere gesture is enough to constitute the offence of assault if the person making it knows that it will cause any one to apprehend
use of criminal force
@M@ NILIJEIN. BRYOEWQ. AllSI@SIM BOEIMAIBHAM) @RM MSIBN AUBMIES @RGIWIEREIW, EHAIRI @RUITERUZ DENRIESIOT AMIIE ..
C:-Mere words itself amounts to assault even if there are no gestures
@RUNYEIRUD DORIBIRJ HAUQe AUIERHUB GEMD ERYGLEMOTIT Dei@osm’
D:-Even if the apprehension of the use of criminal force is not from the person making the gesture or doing any act but from somebody else,
the person making the gesture is liable
@I enieigeoNOTIMBe0 alslellene:may @roen Gomlesm @B MemI ahemEsaje YO QD EREIE MlemMo @og), alal agoEled MleMmo EREFMEIE aldaj, @R
SEMIERMN QUB(DS NIOWYTVOMOETTY.
Correct Answer:- Option-B
Question94:-Which of the following statement is correct with respect to private defense?
M1} @IBIEEOWAIPID] FNITWEIS EMlalOQID JIYIAIMBSIT og@osT vodl?
A:-If circumstances shows that the right of private defense was legitimately exercised, it is open to the court to consider such a plea, even if the
accused had not pleaded the right of private defense.
MIBIEY TIEEIWOTIMESS @RAIBIW. MlaIEIY®aID] allmlewouilEreqis®Irl] MaNaIELBERUY G:oMMlERMeNIBITS, CROME. BG EREAIBY AlBINEMTIEIM EHISTIE DEM@IET, @G
ISR @TIEEIWETIMEO @RAIBGI. AdlaflsleogElal
B:-Whether a person legitimately acted in the exercise of the right of private defense is a mixed question of fact and law
MBI} @JOIIEEOWODIMBHO @OAIBW. AllTleRIrilesmM@im 6@ aleol Mlwaomeay®2dD] aBODalgesEo agmaoy QATROQYOSQo rleacoldeo. mueiluyaow 6acyIeTY
C:-In order to claim the right of private defense the accused need to prove the same beyond reasonable doubt
MUIBE} (@OIEEOWOTIMHO ERAIBIW. Gl OAYMOIM, :0eEdAIMM MPVWAIW MIULITTCRIW] ERO HOETlearDeE
D:-The rule of retreat which common law courts adopted is relevant under Indian Penal Code also.
0al0® T2 eBSONBUd Mlle:dls) allBomEBRud Mlre M e mloacmilm Gldleje iruemaosTy
Correct Answer:- Option-A
Question95:-Which of the following statements are correct with respect to the offence of cruelty under IPC:
i.  The provision of cruelty was there in IPC even from the inception of the code.
ii. The punishment is imprisonment for a term which may extend to two years and fine.
iii. The object of the provision is to penalize the husband or the in-laws who torture or harass the wife or daughter-in-law with the aim of coercing or
forcing her to meet any unlawful demands or to drive her to take away her own life.
iv.  The offence of cruelty under IPC is a cognizable and a non bailable offence.

IPC @j#00g88 @o® o &0qja0w fIMWes e0flajomam @MYPIMBE® agmoeny tdl?
i e®oulm@e0 @see gO@ @M EE® agm aaimua IPC i gsmociaae.
ii. @6 Qidae wee MleNEmI@EBm @S alloqmoam’ udlem
iii. oy D0 QG 6 aflawla]l 9 ©algall @I 6219 cdEmICIemewd amameged MloanlmavnI] a5 MldMIMUER:EI EPERIEIGE VI, sl
@PlOBERHEDD H2IQS af)(M LIBUEONINS WBUERE: gD AUITLOQOS LldHULe.
iv. IPC wsoogss GOD ag)M Qo TIclaClwInMmDe oalslo SQARIET.
A:-i, ii and iii
i, il @soem iii
B:-All of the above
AHEB alOFDAUOWEI0
C:-iii and iv
ili @soe® iv
D:-i and ii
i @soem ii
Correct Answer:- Option-C
Question96:-A, by putting a counterfeit mark on an article, intentionally deceives Z into belief that this article was made by a certain celebrated
manufacturer, and thus dishonestly induces Z to buy and pay for the article. A has committed the offence of
A @ calmOTIod QiR GPSWIg. M5 I, D GRIAIM. BM (Uoy MldEmIal Mldanl 4/®IeemaT aMEajdql Z-0M AlIERE:Qe @PEROM @R GRIAIM. QINEBRIM, alfMo MME:0Mo Z
M TOMMLOWRPO® cajdlafeasw eagme. A agey Mlwaelkeeime. msooilwigen
A:-Cheating
QeIM
B:-Mischief
-ﬂs@rk!e
C:-Criminal misappropriation
@lN@ FWBaEINe
D:-Forgery
QIO
Correct Answer:- Option-A
Question97:-The essential ingredients of falsification of accounts includes
i. At the relevant point of doing the act the accused should be a clerk or officer or servant or acting in that capacity
ii. The act should have been done willfully and with an intention to defraud
ili. His intention was to destroy, alter, mutilate or falsify any book, electronic record, paper, writing, valuable security or accounts entrusted with
him
iv. Making of any false entry willfully and with intent is also punishable

GOEHVEEHSOS QUORAUTILEEMOBIBOO @RAIUDY *RISEH6ERUE DUBFM

i @TR® QYTTIQOS (JTVBORID CLISOTI $:QIEEINOM 6@ VATYEWI PEBPRITVAEMI ETVAIBHEMI @REYEIT @R Bl audoBleReewd @ERYIdleso..

ii. oMy lEIMEs HEEUBETTMIOSQYBIET D QYD 6.ICQYEEDY

iii. @eAIM ag@Bafaldlesmm age®lal afiyde, DRICRRIMIE HOCEOB, Galajd, aEOD, alleieais 6Tealdl GRERIEITS G DETEUd murﬂqdassa@,, 020G, allg®aoess @egslcd
QIOWAIERS ofM@OVIGBAD GRAIMBEO DEGUDL0.

V. 2amiydainj 9ERURETMINSYo a@O®Eslal HOQPIW (@JEAIBMo MSTDANDo

A:-i and iii
i, ii

B:-i, ii and iii
i, i, iii

C:-i, iii and iv
i, iii, iv

D:-All of the above
QBHE®W Al0FODAIOWEIe
Correct Answer:- Option-D
Question98:-Which of the following statements are correct with respect to a public servant framing incorrect record for saving a person from
punishment?
i. Mensrea is immaterial and is punishable even if the public servant is doing the act without intention
ii. The public servant is liable even if he is charged with or not charged with the preparation of any record in his capacity as public servant
ili. The public servant is punishable even if the person whom he intends to save from legal punishment is himself
iv. This provision deals with intentional preparation by a public servant of a false record with the object of saving any person.

8@ Qeole® Wlerlad Mo eeslyclm 8@ Ha@EUBTHS:M PPV e PIMRILIVAIW NIMWOIS OMAORM @MPIAUMNSEITS aG@Iem wd?

i 620U EREDTIHBENET, HaNDEAUBCmEM equeLrIRlge® 6.21Qel Ealdgje WBlBHIBaOREM
i, ®an@erLAIB® 0 el agemEilaj 66 GYICIBRIMTITW &Go YOI MOGIBIJ ©aDINIBOE:M FIOWTLOMOST
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iii.  doaweaw wWleuwled Ml EeslenIm PEGUEIERM QBB CIMIPEMBITE Galdtl FaIDEIABTMGM BlBROBaOMaET’

Iv. leje QBT i), ag)om 6S GG OaDD@ETVAIBHM H@QIW EEE! MQIOILRIMND D QAUAITLA HEBHEIOK0 6.21QM0
A:-ii and iii
ii, ii
B:-i, ii and iii
i, i, ii
C:-i and iii
i, iii
D:-iii and iv
iii, iv

Correct Answer:- Option-D
Question99:-When a person is said to have done an act in good faith as per the definition in IPC, what does it implies
IPC wleer afldalaime @omav@lsl 6@ aiemil mey alinmueomIes B3 oo £2QOAUN alOQYEMUUS, GO ag)TOETY myallaflesanay
A:-He has done the act with due care and caution
@ROINS GAMRE WORLEIOSQo BEBMERIOSQo @) (JYODTI omqgﬂ%sn;‘
B:-He has done the act on the actual belief that the act done is not contrary to law
6219 @O dloacwln’ alaevag) g @wddao allumomlaney EREGA0. @R (JYTTH 6.2
C:-He has done that act honestly
@POINB @R QYO MV@KTLNWAIQ] ©aIQ
D:-All of the above
QBHEI®W A0SV
Correct Answer:- Option-A
Question100:-In which of the following case Capital punishment awarded by trial court and confirmed by High Court for the offences of rape and
murder was reversed by the Supreme Court
ENIBIDOTVW0, OBHIRIAIDe af)M] &QEERUBES QllaloEem 685 QlWlEsd:®Qe 6OEEIST MAlEl:ElERH:Q0 6.21Q AIWWBEYH OTlJORM aB® edmMilanem Myefl e85 0Go&lwoY
A:-Jumman Khan vs State of UP
200 a0m VS 6’ 69ad 9omd@JeEuS
B:-Vinay Sharma vs Union of India
allme’ wdm VS @emlem 8dad sy
C:-Govindachamy vs State of Kerala
6noallmglod] VS eqyg 8oad eao8
D:-All of the above
ABHEI alOFDAUOWEII0
Correct Answer:- Option-C
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